M10 - 4.0 - Exponents Review

Coefficient —> 7x2

X

Exponent
7 P

Base

Rule Example:
x® x xP = xa+b x2xx3 =
a
x_ _ +a-b
5 =X
X

42 x 43 = 4° = 1024 = (2%)°> = 2'°

*3 i@\[ Add exponents\
N

Subtract exponents

(x2)3 = x2%3

v

(x®)P = x@xb \/ Multiply exponents 81 @
2 _ 22,2 (Distribute)
(xy)® = x%y° (3x) = 3% ’
ooy \/ Change
X — .X_
) =5 ‘ of Base
@\/ 3 1 1)
x4 =— 21 \/ 25)3 = - \f
xa 3a {az) ( x) (2x)3 {83{:3 >
1 —_ —
——a = x¢ 2 3-3g~2 \I 1 \/
X X~ 3342 2
x7e P x~2 \/ 1A _
F=x—a __3@ x2+2 (zz+2 Jx2+2 2
Y 5 = 5 5x2
XNyt X\ _x7? \{OR x__(Y)Z X\
y y~e x4 y) y2 y]  \x y) = (E)
Flip it and make the exponent positive
—x@ = —y —x2 @ \/ x° =1
1
(=x)* = —x% :"g"is odd (—x)3 @ \/ xt g4 x \/ Grade 9
1*q1
(=x)%=x%  :"a"iseven (—x)* \/ ordof x=0
4
Root Rules X X x = x2 \/
n x X x? = x3
— A / m
x n = x x3  xxyYx x3
Bottom becomes the root x_; = < =X ) =x
x x X 2
V8 =2 — = =x x =y
2 : \/ &
S ‘zz@ BIE S
x x
x
Cube Root First i 1 -=1
x
1 1, X AXZ 1 x 1
x2 47 = \/E x2  x X x 2 x

knackacademics.com Math891011FPC - 604.505.2867 Page 1




M10 - 4.0 - Radicals Review
Vbx\Vb=hb

Logic

18

3 ) i/ﬁ@
5 3) 3

32=3x3=9

V3x+V/3=3

ﬁx@ﬂmz@:@:@\/

Index %n

xg Radicand

L , Radical

Simplifying and Expanding Radicals |1/;np = ¢V/b
2\/18=2\@72=2\/32X2@\/2\/1 =%XW=3V—=4-2:‘/ LY
2 .
Prime Factorization OR Perfect Squares: 1,4,9,16,25,36,49... 18

VZ—J@W@\/ V24=38x33 =233 =288 f 977

Perfect Cubes: 1,8,27,64,125,216,343 ...

Na™a*b = a%n\/a*b *remainder
24
i/z_ — — 2383 \/ / Divide by Perfect Squares/Cubes i 3

26 =

Can't square root a negative

22\/—_=4\/_=6.35

v—4 = DNE

Can'teven roota negati.ve V=3 =DNE You may Not put a Negative into a Square/Even Root
Ean Clclil()je rootanegative /757 _ _3  Youmay put a Negative into a Cube/Odd  Root
an o

root a negative T30 = —2

A Square Root Can't Equal a Negative
A Even Root Can't Equal a Negative

Vx #= -5

No Solution

Square rooting both sides

Fraction Root Laws m n
xi=4 %y \/_ﬁ
- o xn = x
W = xa xn = n\/xm .
5 1 2 Root first, Exponent second!
\/; =x2 x3= +/x?
H 1 2 2
) zfluserm;SZ_ A \/ A5t =52 83 = 3/82 83 = 382 =22 =4 \/
+2)%=+4 (=2)"=+ 2.24 =224 4=4

Multiplying/Dividing Radicals: Can only Multiply/Divide if it has the Same Root Index. (Or Fractions*)

vaxvb=+vaxb avb x cVd = a x cvVb x d
V5 x 3 =5 x :@387\/ 3vV5 x 247 = 3 x 25 X 7 :‘3552/
a a [c 20\/— 20
E 1.87 5 E 5.66
Combine Roots/Separate Roots |
a\/l;=a><\/13 a=a\/I \/E:l\/lg 5 3 1 1 @ 1 1_5
23 =2xV3 2=2V1 ||VE=143 VExs=5x5=5)) 37375
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